MATHS

BOOKS - CHETANA MATHS (MARATHI
ENGLISH)

CO-ORDINATE GEOMETRY

1. Points A(-6,2) and B(0,-3) are in which

Quadrant/axis?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_mWflD0kSYjef

° Watch Video Solution

2. =3 and y — 4 = 0, which equation is

parallel to X-axis?

o Watch Video Solution

3. Points with both co-ordinates positive lie in

...... quadrant.

° Watch Video Solution



https://dl.doubtnut.com/l/_mWflD0kSYjef
https://dl.doubtnut.com/l/_LYJZiVTKAlMH
https://dl.doubtnut.com/l/_971TwtDjIdi0
https://dl.doubtnut.com/l/_k0VJ311jzlTP

4. Points with both negative co-ordinates lie in

which quadrant?

o Watch Video Solution

5. Write equation of line PQ parallel to X-axis

and 1 unit above it.

° Watch Video Solution



https://dl.doubtnut.com/l/_k0VJ311jzlTP
https://dl.doubtnut.com/l/_Z1l82HfNxHG5

6. Write equation of line MN parallel to Y-axis

and 6 units to the left of Y-axis.

o Watch Video Solution

7. What are X-co-ordinates of each point on Y-

axis?

o Watch Video Solution

8. What are co-ordinates of origin?



https://dl.doubtnut.com/l/_no21JcV6egVi
https://dl.doubtnut.com/l/_zIBipDdoNrQm
https://dl.doubtnut.com/l/_jdUoTNrSgKsV

o Watch Video Solution

9. What is distance between X-axis and line

y= —57?

o Watch Video Solution

10. What are X-co-ordinates of each point on Y-

axis?

o Watch Video Solution



https://dl.doubtnut.com/l/_jdUoTNrSgKsV
https://dl.doubtnut.com/l/_N7wWiJub795Z
https://dl.doubtnut.com/l/_Jvq0LeGjjFdI
https://dl.doubtnut.com/l/_OYbxDThMqHmZ

11. How many lines are there which are parallel

to the Y-axis and having distance 5 units?

o Watch Video Solution

12. Find distance between X-axis and line

y= —4

o Watch Video Solution



https://dl.doubtnut.com/l/_OYbxDThMqHmZ
https://dl.doubtnut.com/l/_gZVTlUtGfBdk

13.A( — 5, — 3) and B(6, — 8) are in which

quadrants?

o Watch Video Solution

14. Point M(-3,-2) is on line parallel to x-axis.

Write equation of line.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ukec4FrhY2ur
https://dl.doubtnut.com/l/_9WyVTi46Kol4

15. What is the distance between Y-axis and

linex = 47

° Watch Video Solution

16. (4,77) lies in which quadrant?

° Watch Video Solution

17. In which quadrant does point (-6,-9) lie?

° Watch Video Solution



https://dl.doubtnut.com/l/_WoHH1HtKNdpg
https://dl.doubtnut.com/l/_2MwKZkIafQvq
https://dl.doubtnut.com/l/_giGshETKQ5rz

18. In which quadrant or axis does point (-4,0)

lie?

o Watch Video Solution

19. In which quadrant or axis does point (0,8)

lie?

o Watch Video Solution



https://dl.doubtnut.com/l/_giGshETKQ5rz
https://dl.doubtnut.com/l/_1Bky3DjWMSAg
https://dl.doubtnut.com/l/_A5OEjgGIlM0w

20. State whether £ = 4 is parallel to X-axis or

Y-axis.

o Watch Video Solution

21. State whether y — 3 = 0 is parallel to X-

axis or Y-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_g5j05zwIACun
https://dl.doubtnut.com/l/_E10tHH7r4O2H

22. State whether = 4+ 8 = 0 is parallel to X-

axis or Y-axis.

o Watch Video Solution

23. State whether y = — 9 is parallel to X-axis

or Y-axis?

o Watch Video Solution



https://dl.doubtnut.com/l/_HyDhccbqtsf0
https://dl.doubtnut.com/l/_rC0PJVCpVvsZ

24. Write equation of line parallel to Y-axis and

on its right side at distance of 6 units.

° Watch Video Solution

25. How many lines are there which are parallel
to X-axis and having distance of 5 units from

it?

° Watch Video Solution



https://dl.doubtnut.com/l/_RD7RwAuEELLq
https://dl.doubtnut.com/l/_Jnlerp01Phrr

26. State whether graph of x = 5 is parallel to

X-axis or Y-axis?

o Watch Video Solution

27. State whether y — 3 = 0 graph is parallel

to X-axis or Y-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_uaW7bXXLAc4i
https://dl.doubtnut.com/l/_eUYzgLTEZ86C

28. State whether  + 8 = 0 graph is parallel

to X-axis or Y-axis.

o Watch Video Solution

29. State whether y = — 10 graph is parallel

to X-axis or Y-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_VbwoSbEWxZee
https://dl.doubtnut.com/l/_1Q73A0Y0S6Ms

30. What are names of horizontal and vertical
lines drawn to determine the position of any

point in plane?

o Watch Video Solution

31. Find the distance between each of the

following pairs of the points: A(2,3), B(4,1)

° Watch Video Solution



https://dl.doubtnut.com/l/_76AF2wxFbchx
https://dl.doubtnut.com/l/_d3T0qXbli0Rg

32. Find the distance between each of the

following pairs of the points:(ii) P(-5,7), Q(-1,3)

° Watch Video Solution

33. Find the distance between each of the

following pairs of the points.(iii)R(0,-3), S(0,5/2)

o Watch Video Solution



https://dl.doubtnut.com/l/_x9yc7GuH9vhf
https://dl.doubtnut.com/l/_nbWYEbvH8Mkv

34. Find the distance between each of the

following pairs of the points. (iv) L(5,-8), M(-7,-3)

° Watch Video Solution

35. Find the distance between each of the

following pairs of the points.(v) T(-3,6), R(9,-10)

o Watch Video Solution



https://dl.doubtnut.com/l/_Ow1h4IXlHxO5
https://dl.doubtnut.com/l/_D6h8VpyVolp0

36. Find the distance between each of the
following pairs of the points.(vi) W(-7/2,4),

X(11,4)

o Watch Video Solution

37. Find the distance between the following

pairs of points (i)A(a,0),B(0,a).

° Watch Video Solution



https://dl.doubtnut.com/l/_d2sY6gBoStr1
https://dl.doubtnut.com/l/_osmfML4UeHji

38. Find the distance between the following

pairs of points (ii)P(-6,-3),0(-1,9)

° Watch Video Solution

39. Find the distance between the following

pairs of points (iii)R(-3a,a),5(a,-2a)

o Watch Video Solution



https://dl.doubtnut.com/l/_0tkl4kj25uJe
https://dl.doubtnut.com/l/_LyiHtsGupCgP

40. Find the point on X-axis which is

equidisant from A(-3,4) and B(1,-4)

o Watch Video Solution

41. Find a point on X-axis which is equidisant

from P(2,-5) and Q(-2,9).

o Watch Video Solution



https://dl.doubtnut.com/l/_9yS339xjzNQj
https://dl.doubtnut.com/l/_fFy6gC2xYDwA

42. Verify that points P(-2,2),0(2,2) and R(2,7)

are vertices of a right angled triangle.

° Watch Video Solution

43. A(-4,7),B(-1,2),C(8,5) and D(5,4) are the

vertices of rhombus ABCD.

o Watch Video Solution



https://dl.doubtnut.com/l/_O0536PqgnFTj
https://dl.doubtnut.com/l/_TOCfseEXBDPP

44.Find x,if distance between points L(x,7) and

M(1,15) is 10.

o Watch Video Solution

45, Show that the points A(1,2), B(1,6) and C(1+
2./34) are the vertices of an equilateral

triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_8qMcXuSsUnBF
https://dl.doubtnut.com/l/_W6UYj2trc2g4

46. In the following example, can the segment
joining the given points form a triangle? If
triangle is formed, state the type of the
triangle considering sides of the triangle.

L(6,4),M(-5,-3),N(-6,8).

o Watch Video Solution

47.1n the following examples,can the segment
joining the given points form a triangle?If

triangle is formed,state the type of the


https://dl.doubtnut.com/l/_I3FqeSxk4nqR
https://dl.doubtnut.com/l/_HHTV8BRw1L6W

triangle considering sides of the triangle.

(i)P(-2,-6),0(-4,-2),R(-5,0).

° Watch Video Solution

48. In the following examples,can the segment
joining the given points form a triangle?If
triangle is formed,state the type of the
triangle considering sides of the triangle.
(i)A(sqrt 2,sqrt 2),B(-sqrt 2,sqrt 2),C(-sqrt

6,5qrt 6).

° Watch Video Solution



https://dl.doubtnut.com/l/_HHTV8BRw1L6W
https://dl.doubtnut.com/l/_j7HVZ7Q40VE0

49, Show that A(4,-1), B(6,0), C(7,-2) and D(5,-3)

are vertices of a square.

° Watch Video Solution

50. Find the coordinates of circumcentre of a

triangle whose vertices are (-3,1),(0,-2) and (1,3).


https://dl.doubtnut.com/l/_j7HVZ7Q40VE0
https://dl.doubtnut.com/l/_vcJOM9JsapBY
https://dl.doubtnut.com/l/_b8SLVaZrWo30

A (=3.1)

B C
(0, -2) (1, 3)

o Watch Video Solution

51. Find the co-ordinates of circumcentre and

radius of a circumcircle of A ABC,f


https://dl.doubtnut.com/l/_b8SLVaZrWo30
https://dl.doubtnut.com/l/_6vJrBUfZs8Jf

A(7.1),B(3,5) and C(2,0) are given.

A(7.1)
P
(h, k) -
(3, 5) (2, 0)

o Watch Video Solution

52. Find the co-ordinates of the center of the

circle passing through the point. P(6,-6),Q(3,7)


https://dl.doubtnut.com/l/_6vJrBUfZs8Jf
https://dl.doubtnut.com/l/_V1vpdyJsFiC6

and R(3,3).

° Watch Video Solution

53. Find the co-ordinates of point P if P divides
the line segment joining the points A(-1,7) and

B(4,-3) in the ratio 2:3.



https://dl.doubtnut.com/l/_V1vpdyJsFiC6
https://dl.doubtnut.com/l/_R8SSaHj2RDkH

o Watch Video Solution

54. In each of the following examples find the
co-ordinates of point A which divides segment

PO in the ratio a:b.(i) P(-3,7), O(1,-4), a:b=2:1.

o Watch Video Solution

55.In each of the following examples find the
co-ordinates of point A which divides segment

PQ in the ratio a:b.(ii)P(-2,-5), Q(4,3), a:b=3:4.

| 8 |


https://dl.doubtnut.com/l/_R8SSaHj2RDkH
https://dl.doubtnut.com/l/_bvkmWTnRW3PQ
https://dl.doubtnut.com/l/_Ijev3qGBprXi

L Watch Video Solution J

56. In each of the following examples find the
co-ordinates of point A which divides segment

PO in the ratio a:b.(iii)P(2,6), O(-4,1), a:b=1:2.

o Watch Video Solution

57. Find the ratio in which point T(-1,6) divides
the line segment joining the points P(-3,10)

and Q(6,-8).

o Watch Video Solution



https://dl.doubtnut.com/l/_Ijev3qGBprXi
https://dl.doubtnut.com/l/_VYIi76sWKvK6
https://dl.doubtnut.com/l/_OIfgFllTPKm9

58. Find the ratio in which point P(k,7) divides
the segment joining A(8,9) and B(1,2). Also find

k.

o Watch Video Solution

59. Find the ratio in which the line segment
joining the points A(3,8) and B(-9,3) is divided

by the Y-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_OIfgFllTPKm9
https://dl.doubtnut.com/l/_jt3sdYExbz8l
https://dl.doubtnut.com/l/_jbXQI5l7djgq

60. Given A(4,-3), B(8,5). Find the co-ordinates
of the point that divides segment AB in the

ratio 3:1.

o Watch Video Solution

61. Find the coordinates of the midpoint of the

segment joining the points (22,20) and (0,16).

o Watch Video Solution



https://dl.doubtnut.com/l/_jbXQI5l7djgq
https://dl.doubtnut.com/l/_6KjDIFXoKfgW
https://dl.doubtnut.com/l/_xXDXHSpUSnKw
https://dl.doubtnut.com/l/_E28SpeOrOHnw

62. Point P is the centre of the circle and AB is
a diameter.Find the co-ordinates of point B if
co-ordinates of point A and P are (2,-3) and

(-2,0) respectively.

o Watch Video Solution

63. Find the coordinates of the midpoint of

the line segment joining P(0,6) and Q(12,20).

o Watch Video Solution



https://dl.doubtnut.com/l/_E28SpeOrOHnw
https://dl.doubtnut.com/l/_kglNIt3cSL1W

64. Show that points P(2,-2), Q(7,3), R(11,-1) and

S(6,-6) are the vertices of a parallelogram.

° Watch Video Solution

65. Find the co-ordinates of points of
trisection of the line segment AB with A(2,7)

and B(-4,-8).

° Watch Video Solution



https://dl.doubtnut.com/l/_AoS4EwVTMFmF
https://dl.doubtnut.com/l/_XTQInSseyZIt

66. If A(-14,-10),B(6,-2) is givenfind the co-
ordinates of the points which divide segment

AB into four equal parts.

o Watch Video Solution

67. Find the possible pairs of co-ordinates of

the fourth vertex D of the parallelogram,if


https://dl.doubtnut.com/l/_YfPPgbqdaePd
https://dl.doubtnut.com/l/_S4h2teegMZbf

three of its vertices are A(5,6),B(1,-2) and C(3,-2)

o Watch Video Solution

68. In each of the following vertices of a
triangle are given. Find the coordinates of

centroid of each triangle (i) (-7,6), (2,-2), (8,5)


https://dl.doubtnut.com/l/_S4h2teegMZbf
https://dl.doubtnut.com/l/_zN7yTmYpnAQ1

° Watch Video Solution

69. In each of the following vertices of a
triangle are given. Find the coordinates of

centroid of each triangle (ii) (3,-5),(4,3),(11,-4)

° Watch Video Solution

70. In each of the following vertices of a
triangle are given. Find the coordinates of

centroid of each triangle (iii) (4,7),(8,4),(7,11).

| e |


https://dl.doubtnut.com/l/_zN7yTmYpnAQ1
https://dl.doubtnut.com/l/_u1KOQTYDhSv2
https://dl.doubtnut.com/l/_XpjX3ea5yWEx

& Wwatch Video Solution I

71. In A ABC,G(-4,7) is the centroid of

AN\ ABC.If A(-14,-19) and B(3,5),then find co-

ordinates of C.

° Watch Video Solution

72. A(h,6),B(2,3) and C(-6k) are the co-
ordinates of vertices of a triangle whose

centroid is G(1,5). Find h and k.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_XpjX3ea5yWEx
https://dl.doubtnut.com/l/_w8YsWKi4KCmf
https://dl.doubtnut.com/l/_sHqJAFybcDaq

73. Find the co-ordinates of centroid of the
triangles if points D(-7,6),E(8,5) and F(2,-2) are

the mid points of the sides of that triangle.

° Watch Video Solution

74. Angles made by the line with the positive
direction of X-axis are given. Find the slope of

these lines (i)45°

° Watch Video Solution



https://dl.doubtnut.com/l/_sHqJAFybcDaq
https://dl.doubtnut.com/l/_X8DL4ypvI5fT
https://dl.doubtnut.com/l/_4FWIXviO8PpC

75. Angles made by the line with the positive
direction of X-axis are given. Find the slope of

these lines (ii)60°

° Watch Video Solution

76. Angles made by the line with the positive
direction of X-axis are given. Find the slope of

these lines(iii) 90°

° Watch Video Solution



https://dl.doubtnut.com/l/_4FWIXviO8PpC
https://dl.doubtnut.com/l/_vYRBhF06iG7G
https://dl.doubtnut.com/l/_q3Z5xbUwJc9O

77. Find the slope of line passing through the

given points. (i) A(2,3) and B(4,7)

o Watch Video Solution

78. Find the slope of line passing through the

given points. (ii) P(-3,1) and Q(5,-2)

° Watch Video Solution



https://dl.doubtnut.com/l/_q3Z5xbUwJc9O
https://dl.doubtnut.com/l/_BeuEFPK8P2N9
https://dl.doubtnut.com/l/_v0bq93O67mHZ

79. Find the slope of line passing through the

given points.(iii) C(5,-2) and D(7,3)

° Watch Video Solution

80. Find the slope of line passing through the

given points.(iv) L(-2,-3) and M(-6,-8).

o Watch Video Solution



https://dl.doubtnut.com/l/_ST0ZmOez7QX9
https://dl.doubtnut.com/l/_79QEMl8turfc

81. Find the slope of line passing through the

given points.(v) E(-4,-2) and F(6,3).

° Watch Video Solution

82. Find the slope of line passing through the

given points.(vi) T(0,-3) and S(0,4).

o Watch Video Solution



https://dl.doubtnut.com/l/_jhdHAacizllJ
https://dl.doubtnut.com/l/_zlyYAlD6us9h

83. Determine whether the points are collinear.

()A(1,-3), B(2,-5) and C(-4,7)

o Watch Video Solution

84. Determine whether the points are

collinear. (ii) L(-2,3),M(1,-3),N(5,4)

o Watch Video Solution



https://dl.doubtnut.com/l/_nCzNHwvIWMQL
https://dl.doubtnut.com/l/_GoQQNWdWyFVf

85. Determine whether the points are collinear.

(iii) R(0,3),D(2,1) and S(3,-1)

o Watch Video Solution

86. Determine whether the points are collinear.

(iv) P(-2,3),0(1,2),R(4,1)

o Watch Video Solution



https://dl.doubtnut.com/l/_5YsaMnGLGX7F
https://dl.doubtnut.com/l/_7OsMMsqMzRb3

87. Determine whether following points are

collinear.(i) A(-1,-1),B(0,1),C(1,3)

° Watch Video Solution

88. Determine whether following points are

collinear.(ii) D(-2,-3),E(1,0),F(2,1)

o Watch Video Solution



https://dl.doubtnut.com/l/_Z90QEgQvSL60
https://dl.doubtnut.com/l/_PYiwYGBT7Fmv

89. Determine whether following points are

collinear.(iii) L(2,5),M(3,3),N(5,1)

° Watch Video Solution

90. Determine whether following points are

collinear.(iv) P(2,-5),0(1,-3),R(-2,3)

o Watch Video Solution



https://dl.doubtnut.com/l/_L1I0QxRaDpiI
https://dl.doubtnut.com/l/_y09gOYZV1AyP

91. Determine whether following points are

collinear.(v) R(1,-4),5(-2,2),T(-3,4).

o Watch Video Solution

92. Determine whether following points are

collinear.(vi) A(-4,4),K(-2,5/2),N(4,-2).

o Watch Video Solution



https://dl.doubtnut.com/l/_Qjar68rHPaCt
https://dl.doubtnut.com/l/_3XVbCqRW432G

93. Determine whether the given points are

collinear.(i) A(0,2),B(1,-0.5),C(2,-3)

o Watch Video Solution

94. Determine whether the given points are

collinear.(ii) P(1,2),0(2,8/5),R(3,6/5).

o Watch Video Solution



https://dl.doubtnut.com/l/_ViXc6Tc7DctB
https://dl.doubtnut.com/l/_dEZ872bBvwiz

95. Determine whether the given points are

collinear.(iii) L(1,2),M(5,3),N(8,6).

o Watch Video Solution

96. If A(1,-1), B(0,4), C(-5,3) are vertices of a

triangle, then find the slope of each side.

o Watch Video Solution



https://dl.doubtnut.com/l/_09FDZ3dypJBk
https://dl.doubtnut.com/l/_Xg09VRJKpjWr

97. Show that A(-4,7), B(-1,2), C(8,5) and D(5,-4)

are the vertices of a parallelogram.

o Watch Video Solution

98. Find k, if R(1,-1),5(-2,k) and slope of line RS is

-2.

o Watch Video Solution



https://dl.doubtnut.com/l/_xWBIbbIgfB4U
https://dl.doubtnut.com/l/_XbpKoyLLmyE2

99. Find k, if B(k,-5),C(1,2) and slope of the line

is 7.

o Watch Video Solution

100. Find k, if PQ | | RS and P(2,4), Q(3,6),

R(3,1) and S(5,k).

o Watch Video Solution



https://dl.doubtnut.com/l/_tT7pJ1YR4hG0
https://dl.doubtnut.com/l/_qGopu15hu8Rh

101. Find k, if the line passing through points

1
P(-12,-3) and Q(4,k) has slope 7

° Watch Video Solution

102. Show that the line joining the points
A(4,8) and B(5,5) is parallel to the line joining

the points C(2,4) and D(1,7).

° Watch Video Solution



https://dl.doubtnut.com/l/_SuaKqu5Ro9pS
https://dl.doubtnut.com/l/_yobFR6BZVhez

103. Show that the points P(1,-2), Q(5,2), R(3,-1),

S(-1,-5) are the vertices of a parallelogram.

° Watch Video Solution

104. Show that the [ PQRS formed by

P(2,1),9(-1,3),R(-5,-3),5(-2,-5) is a rectangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_rNDGNtiPcw1p
https://dl.doubtnut.com/l/_xGMMWIVmU35s

105. Find the type of the equilateral if points
A(-4,-2),B(-3,7),C(3,2) and D(2,3) are joined

serially.

o Watch Video Solution

106. Find the slope of the diagonals of a
quadrilateral with vertices A(1,7), B(6,3), C(0,-3)

and D(-3,3).

o Watch Video Solution



https://dl.doubtnut.com/l/_diMslq8sLOOO
https://dl.doubtnut.com/l/_LNPiXn4J24Ty

1. Seg AB is parallel to Y-axis and co-ordinates
of point A are (1,3), then co-ordinates of point

B can be.......... a) (3,1) b) (5,3) c) (3,0) d) (1,-3)

B. (5,3)

C. (3,0)

D. (1,-3)

Answer:



https://dl.doubtnut.com/l/_Dh5i9JVI5vwG

\ o Watch Video Solution

2. Out of the following, point....... lies to the

right of the origin on X-axis. a) (-2,0) b) (0,2) ¢)

(2,3) d) (2,0)

A. (-2,0)

B. (0,2)

C.(2,3)

D. (2,0)

Answer:


https://dl.doubtnut.com/l/_Dh5i9JVI5vwG
https://dl.doubtnut.com/l/_PcXXZsDADtco

° Watch Video Solution

3. Distance of point (-3,4) from the origin

[[— a)7b)1c)5d)-5

B.1

C.5



https://dl.doubtnut.com/l/_PcXXZsDADtco
https://dl.doubtnut.com/l/_yvhSFh5TSQ0v

4. A line makes an angle of 30° with the

positive direction of X-axis.so the slope of the

o 1 3 1 _

line is..... a)Eb) 5 c)\/gd)\/B
1
A°§
V3
5. =5~
c L
V3
D.+/3

Answer:



https://dl.doubtnut.com/l/_yvhSFh5TSQ0v
https://dl.doubtnut.com/l/_D8SkgQlp1moE

\ o Watch Video Solution

5. What is the slope of line with inclination

60°? a)y/3 b)% c)1d)0
A /3
1
B. —
V3
C.1

D.O

Answer:



https://dl.doubtnut.com/l/_D8SkgQlp1moE
https://dl.doubtnut.com/l/_CLOwU7C5K4Ek

L___Watch Video Sojution )

6. Find the inclination of a line with slope 1. a)

60° b)45° c)90° d)can't say

A.60°

B.45°

C.90°

D. can't say

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_CLOwU7C5K4Ek
https://dl.doubtnut.com/l/_2005lnrAiI5v

7.Line | is parallel to line m. If slope of line | is
1
3 the slope of line m is.... a)—2 b)0 c)—=
d)can't say

A -2

B.O

c 1

2

D. can't say

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_2005lnrAiI5v
https://dl.doubtnut.com/l/_o4qVOzLho6hz

8. What is the slope of line passing through

8

ints (4,6) and (1,-2)? )4b)3 )8d)
oints (4,6) and (1,-2)? a)— b)— ¢)— d)—
P g g 95 43

o >
w|oo oo & w w|k

0

o

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_o4qVOzLho6hz
https://dl.doubtnut.com/l/_tEk3suqNL1s3

9. Slope of X-axis iS........ a)0 b)1 ¢) -1 d) Not

defined

A .0

B.1

C.-1

D. Not defined

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_tEk3suqNL1s3
https://dl.doubtnut.com/l/_Bo77bYddDHoo
https://dl.doubtnut.com/l/_kKBULqFsFySL

10. Slope of Y-axis is...a)0 b)1 ¢) -1 d) Not

defined

A.O

B.1

C.-1

D. Not defined

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_kKBULqFsFySL
https://dl.doubtnut.com/l/_NXG9qaF0ixvs

11. Distance of point A(7,24) from the origin

T3— a)17 b) -17 ¢)25 d) can not be found

A 17

B.-17

C. 25

D. can not be found

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_NXG9qaF0ixvs

12. Find the co-ordinates of the point P which

bisects seg having co-ordinates (3,2) and(5,-2)

a) (-3,5) b) (0,4) c) (4,0) d) (5,-3)

A. (-3,5)

B. (0,4)

C. (4,0)

D. (5,-3)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_L1xqv67JgMQU

13. Find the co-ordinates of the point which

divides line seg QR in the ratio 1:2 where Q(1,1)

and R(1,-2). a) (-5,3) b) (1,0) c) (-3,2) d) (4,0)

A. (-5,3)

B. (1,0)

C.(-3,2)

D. (4,0)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_V3aXJBKfLPTv

14. In what ratio does the point (1,6) divide the

line segment joining the points (3,6) and

(-5,6)?a)1:3b)2:3¢)3:1d)3:2

Al:3

B.2:3

C.3:1

D. 3:2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_MIddPvi9aWmF

15. Find the distance between the given points.

(1) A(3,-4), B(-5,6)

o Watch Video Solution

16. Find the distance between the given points.

(i) P(10,-8), Q(-3,-2)

o Watch Video Solution



https://dl.doubtnut.com/l/_vISvR74ydwCK
https://dl.doubtnut.com/l/_VIOmFcxJoqlN

17. Find the distance between the given points.

(iii) K(0,-5), L(-5,0)

o Watch Video Solution

18. Find the distance between the given points.

(iv) 1(3.5,6.8), J(1.5,2.8)

o Watch Video Solution



https://dl.doubtnut.com/l/_f0wTDi2ZGKhI
https://dl.doubtnut.com/l/_wk8EbS2ABeFh

19. Show that the points (5,11) is equidistant

from the points (-5,13) and (3,1)

° Watch Video Solution

20. Check whether points (3,3),(-4,-1) and (3,-5)

are the vertices of an issosceles triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_LxHVCQZGCtfS
https://dl.doubtnut.com/l/_RfjEtkWcKnwi

21. Find the relation between x and y, where

point (x,y) is equidistant from (2,-4) and (-2,6).

° Watch Video Solution

22. Show that the point (0,9) is equidistant

from the point (-4,1) and (4,1).

o Watch Video Solution



https://dl.doubtnut.com/l/_iwfCmrrKD9CY
https://dl.doubtnut.com/l/_wosxVSXNXEI8

23.Find the coordinates of the point on Y-axis
which is equidistant from the points M(6,5)

and point N(-4,3).

o Watch Video Solution

24. Using distant formula,check whether
following points are collinear or not.

(i)L(4,-1),M(1,-3),N(-2,-5)

o Watch Video Solution



https://dl.doubtnut.com/l/_BZvV4A6BGMaA
https://dl.doubtnut.com/l/_1563Tc7cQiOE
https://dl.doubtnut.com/l/_OppJGirbYr34

25. Using distant formula,check whether
following points are collinear or not.

(i)A(-5,4),B(-2,-2),C(3,-12)

o Watch Video Solution

26. Find the distance of point Z(-2.4,-1) from

the origin.

° Watch Video Solution



https://dl.doubtnut.com/l/_OppJGirbYr34
https://dl.doubtnut.com/l/_yWJP6aCOP4um

27. Show that the points A(4,7),B(8,4) and
C(711) are the vertices of a right angled

triangle.

o Watch Video Solution

28. Show that A(4,-1), B(6,0), C(7,-2) and D(5,-3)

are vertices of a square.

° Watch Video Solution



https://dl.doubtnut.com/l/_N7U1HYsPlDC2
https://dl.doubtnut.com/l/_MWNYINkMlnm9

29. Show that the points (2,4),(2,6) and
(2 + /3, 5) are the vertices of an equilateral

triangle.

o Watch Video Solution

30. Show that points A(1,-5),B(-4,-8),C(-1,-13) and

D(4,-10) are the vertices of a rhombus.

° Watch Video Solution



https://dl.doubtnut.com/l/_Vg1hchhWg255
https://dl.doubtnut.com/l/_AGr0aMipayig

31. Find the coordinates of the point P which
divides line segment QR in the ratio m:n in the

following examples (i) Q(5,8), R(4,-4), m:n=2:1.

o Watch Video Solution

32. Find the coordinates of the point P which
divides line segment QR in the ratio m:n in the

following examples (i) Q(5,8), R(4,-4), m:n=2:1.

o Watch Video Solution



https://dl.doubtnut.com/l/_M8qvtQquH0DX
https://dl.doubtnut.com/l/_6xyXcNkKapod
https://dl.doubtnut.com/l/_uNFks3kU2Sp2

33. Find the coordinates of the point P which
divides line segment QR in the ratio m:n in the

following examples(iii)Q(1,7),R(-3,1),m:n=1:2.

o Watch Video Solution

34. Find the coordinates of the point P which
divides line segment QR in the ratio m:n in the

following examples(iv)Q(6,-5),R(-10,2),m:n=3:4.

o Watch Video Solution



https://dl.doubtnut.com/l/_uNFks3kU2Sp2
https://dl.doubtnut.com/l/_9w3riXaSEy0h
https://dl.doubtnut.com/l/_qn9qAo7nVB5U

35. Find the coordinates of the point P which
divides line segment QR in the ratio m:n in the

following examples (v) Q(5,8), R(-7,-8), m:n=4:1.

o Watch Video Solution

36. Find the coordinates of the midpoint of

seg OR, if Q(2.5,-4.3) and R(-1.5,2.7).

° Watch Video Solution



https://dl.doubtnut.com/l/_qn9qAo7nVB5U
https://dl.doubtnut.com/l/_QzaYCitA5a3I

37. Find the coordinates of the midpoint P of

seg AB, if A(3.5,9.5) and B(-1.5,0.5).

° Watch Video Solution

38. In what ratio does the point (1,3) divide line

segment joining the points (3,6) and (-5,-6)?

o Watch Video Solution



https://dl.doubtnut.com/l/_8J99TG2UbwIs
https://dl.doubtnut.com/l/_hP1qPxhnOgXD

39. Find the lengths of the median of ABC

whose vertices are A(7,-3),B(5,3),C(3,-1).

° Watch Video Solution

40. Show that the line segment joining the
points (5,7), (3,9) and (8,6), (0,10) bisect each

other.

° Watch Video Solution



https://dl.doubtnut.com/l/_eyB35wWeyTFD
https://dl.doubtnut.com/l/_ojndDB1KOvV9

41. Segments AB and CD bisects each other at
point M. If A(4,3), B(-2,5), C(-3,5), then find

coordinates of D.

o Watch Video Solution

42. Find the ratio in which the line segment
joining the points (6,4) and(1,7) is divided by

X-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_MrzlQrzpjI2E
https://dl.doubtnut.com/l/_fxhoQx0QuqNI
https://dl.doubtnut.com/l/_34nCZPYNvDrj

43. Find the coordinates of the points which
divide the line segment joining the points(-2,2)

and (6,-6) in four equal parts.

o Watch Video Solution

44. Find the coordinates of the points which
divide the segment AB into four equal parts,if

A(5,7) and B(-3,-1).

o Watch Video Solution



https://dl.doubtnut.com/l/_34nCZPYNvDrj
https://dl.doubtnut.com/l/_CilCU3GwbjzR
https://dl.doubtnut.com/l/_VqU5R2gKgXSE

45, If A-P-Q-B, point P and Q trisects seg AB and
A(3,1) , Q(-1,3), then find coordinates of points B

and P.

o Watch Video Solution

46. Find the coordinates of centroid G of A

ABC,if (i) A(8,9), B(4,5), C(6,2)

° Watch Video Solution



https://dl.doubtnut.com/l/_VqU5R2gKgXSE
https://dl.doubtnut.com/l/_HNkMqp19sOc3

47. Find the coordinates of centroid G of A

ABC, if (ii) A(11,8), B(-6,5), C(1,-28).

° Watch Video Solution

48. The origin 'O' is the centroid of AABC in

which A(-4,3), B(3,k) and C(h,5). Find h and k.

o Watch Video Solution



https://dl.doubtnut.com/l/_KLw4hugLInLR
https://dl.doubtnut.com/l/_a9XJb8TQFEcp

49. Find the coordinates of the points dividing
the segment joining A(-5,7) and B(11,-1) into

four equal parts.

o Watch Video Solution

50. Find the slope of a line which makes an

angle with positive X-axis (i) 0°

° Watch Video Solution



https://dl.doubtnut.com/l/_jgC0mSkBjOKw
https://dl.doubtnut.com/l/_XXH4MUZIhQfK

51. Find the slope of a line which makes an

angle with positive X-axis(ii) 30°

o Watch Video Solution

52. Find the slope of a line which makes an

angle with positive X-axis(iii) 45°

o Watch Video Solution



https://dl.doubtnut.com/l/_uWHqhpTIp3Ym
https://dl.doubtnut.com/l/_3bGb1FllOomB

53. Angles made by the line with the positive
direction of X-axis are given. Find the slope of

these lines (ii)60°

o Watch Video Solution

54. Angles made by the line with the positive
direction of X-axis are given. Find the slope of

these lines(iii) 90°

o Watch Video Solution



https://dl.doubtnut.com/l/_00dQpzgiuDma
https://dl.doubtnut.com/l/_HD8sfXWfCozG
https://dl.doubtnut.com/l/_COcBhtBSnsu1

55. Find the slope of the line passing through

the points.(i) (-1,4), (3,7)

o Watch Video Solution

56. Find the slope of the line passing through

the points.(ii) (5,5), (1,6)

o Watch Video Solution



https://dl.doubtnut.com/l/_COcBhtBSnsu1
https://dl.doubtnut.com/l/_Tk279OGgCx5N

57. Find the slope of the line passing through

the points.(iii) (1,7), (4,8)

o Watch Video Solution

58. Find the slope of the line passing through

the points.(iv)(4,8), (5,5)

o Watch Video Solution



https://dl.doubtnut.com/l/_iI8L4TyJ1DjC
https://dl.doubtnut.com/l/_HIzrC43mbhpb

59. Find the slope of the line passing through

the points.(v)(4,1), (2,-3)

o Watch Video Solution

60. Find the slope of the line passing through

the points.(vi)(4,4), (3,5)

o Watch Video Solution



https://dl.doubtnut.com/l/_uROgXUUodcHb
https://dl.doubtnut.com/l/_BjEijcstZ2BV

61. Using slope concept, check whether the

following points are collinear.(i)(-2,-1),(4,0), (3,3)

° Watch Video Solution

62. Using slope concept, check whether the
following points are collinear.(ii)(-2,-3), (33/8,4),

(5,5)

° Watch Video Solution



https://dl.doubtnut.com/l/_dWhCt5AYxqet
https://dl.doubtnut.com/l/_D0Qm98pqBN7B

63. Using slope concept, check whether the

following points are collinear.(iii) (4,4), (3,5),

(_1 ,-1)

o Watch Video Solution

64. Using slope concept, check whether the
following points are collinear.(iv)(2,10), (0,4),

(3,13)

o Watch Video Solution



https://dl.doubtnut.com/l/_HUtA6f3pXfYl
https://dl.doubtnut.com/l/_GFKf7scifMxQ
https://dl.doubtnut.com/l/_nKqPIJTNEsld

65. Using slope concept, check whether the
following points are collinear.(v)(5,0), (10,-3),

(-5,6)

o Watch Video Solution

66. Using slope concept, check whether the
following points are collinear.(vi)(2,5), (5,7),

(8’9)

o Watch Video Solution



https://dl.doubtnut.com/l/_nKqPIJTNEsld
https://dl.doubtnut.com/l/_8JMm1lohCrYX
https://dl.doubtnut.com/l/_dwn6FufEWnQy

67. Find the value of k, if (5,k), (-3,1) and (-7,-2)

are collinear.

° Watch Video Solution

68. Find the value of k, if (2,1), (4,3) and (0,k) are

collinear.

o Watch Video Solution

69. Find the value of k, if the slope of the line

passing through (2,5) and (k,3) is 2.


https://dl.doubtnut.com/l/_dwn6FufEWnQy
https://dl.doubtnut.com/l/_pKJgx4XLiwAt
https://dl.doubtnut.com/l/_VOVy95J4kvJ3

° Watch Video Solution

70. P(3,4), Q(7,2) and R(-2,-1) are the vertices of
APQR. Write down the slope of each side of

the triangle.

° Watch Video Solution

71. Show that line joining (4,-1) and (6,0) is

parallel to line joining (7,-2) and (5,-3).

o Watch Video Solution



https://dl.doubtnut.com/l/_VOVy95J4kvJ3
https://dl.doubtnut.com/l/_4MDUNcUhv9FG
https://dl.doubtnut.com/l/_b2lnmw3wXEW3

72. Show that [J ABCD is a parallelogram,if

A(-1,2),B(-5,-6),C(3,-2) and D(7,6).

° Watch Video Solution

73.Show that P(3,4),0(7,-2),R(1,1) and S(-3,7) are

the vertices of a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_b2lnmw3wXEW3
https://dl.doubtnut.com/l/_836ucQ1ICzys
https://dl.doubtnut.com/l/_yJHTNPAJra3E

74. Distance of point (-3,4) from the origin

J3— a)7b)1c)5d)-5

A7

B.1

C.5

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Gt38IrK2lYb3
https://dl.doubtnut.com/l/_1MNXjxWewozL

75. Line | is parallel to line m. If slope of line | is

1
3 the slope of line m is..... a)—2 b)0 )=

d)can't say

A. -2
B.O
c 1
2

D. Cant say

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_1MNXjxWewozL
https://dl.doubtnut.com/l/_alcyDJuAFEDJ

76.Slope of a line is 1/3. Find its inclination.

° Watch Video Solution

77.Find the distance between (2,3) and (4,1).

° Watch Video Solution

78.Seg AB is a diameter of a circle with centre
P(1,2). If A(-4,2), then find the co-ordinates of

point B.

| s |


https://dl.doubtnut.com/l/_alcyDJuAFEDJ
https://dl.doubtnut.com/l/_HSGm82SqE1hM
https://dl.doubtnut.com/l/_E6dNdKQXJbJ1

| ¥ Watch Video Solution ]

79. If P-T-Q and P(-3,10), Q(6,-8) and T(-1,6), then

find the ratio in which point T divides seg PQ.

o Watch Video Solution

80. A(-7,6), B(2,-2) and C(8,5) are co-ordinates of
vertices of A ABC. Find the co-ordinates of

centroid of A\ ABC.

o Watch Video Solution



https://dl.doubtnut.com/l/_E6dNdKQXJbJ1
https://dl.doubtnut.com/l/_LBWkhwGQLJ07
https://dl.doubtnut.com/l/_AmIxDohMN8UN

81. Decide (2,10), (10,4) and (3,13) are collinear

or not.

o Watch Video Solution

82. Find k, if PQ | | RS and P(2,4), Q(3,6),

R(3,1) and S(5,k).

o Watch Video Solution



https://dl.doubtnut.com/l/_hzduAI4nho4Z
https://dl.doubtnut.com/l/_3JLl0epsShWp

83. Prove that
(V2 VD), (~ V2, —2) and (- V6, \0)

are the vertices of an equilateral triangle.

o Watch Video Solution

84. Find the co-ordinates of circumcentre and

radius of a circumcircle of A ABC,f


https://dl.doubtnut.com/l/_HNyj74uwyoIK
https://dl.doubtnut.com/l/_rikkaqn1kDkX

A(7.1),B(3,5) and C(2,0) are given.

A(7.1)
P
(h, k) -
(3, 5) (2, 0)

o Watch Video Solution

85. Find the possible co-ordinates of the
fourth vertex of the parallelogram,if three of

its vertices are (5,6),(1,-2) and (-3,2).


https://dl.doubtnut.com/l/_rikkaqn1kDkX
https://dl.doubtnut.com/l/_cbFcxPnFnIsv

° Watch Video Solution

86. Find the coordinates of the points which
divide the line segment joining the points(-2,2)

and (6,-6) in four equal parts.

° Watch Video Solution



https://dl.doubtnut.com/l/_cbFcxPnFnIsv
https://dl.doubtnut.com/l/_hquKE6x8jRja

